ÜTEMEZÉSI ALGORITMUSOK

2008. december 12-én írt zárthelyi eredménye

	Név/Kérdés
	1.
	2.
	3.
	4.
	5.
	6.
	7.
	Jegy
	Gyakjegy

	1/  Fekete Márton
	1
	−
	1
	+
	−
	+
	−
	3
	3

	2/  Leszkovich Gergely
	1
	−
	1
	1
	−
	1
	0
	4
	4

	3/ Hodobay Balázs
	1
	−
	1
	1
	−
	1
	−
	4
	4

	4/ Szalontai Ádám
	1
	−
	1
	+
	−
	1
	−
	3+
	3

	5/ Bartal Zoltán
	0
	−
	1
	+
	+
	+
	0
	2+
	2

	6/ Gyöngyösi Zsolt
	1
	−
	1
	−
	0!!!
	+
	−
	2
	2

	7/ Simon Melinda
	1
	+
	1
	+
	0!!!
	−
	0!!!
	3
	3

	8/ Ugra Dániel
	1
	−
	1
	+
	−
	+
	−
	3
	3

	9/ Ecsedi Lehel Csaba
	1
	
	1
	+
	1+
	1
	0
	5
	5

	10/  Szemes Gábor 
	0!!!
	0
	1
	+
	
	
	
	1+
	1


A !!! azt jelenti, hogy  NAGYON ROSSZ  a válasz.

Budapest, 2008. december 13.

                                                                           tony@compalg.inf.elte.hu 

